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check your Question Booklet (QB) and
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- Serial number of Question Booklet (QB)
and O.M.R. Answer Sheet is same.

- Allpages and all questions are properly
printed.
In case of any discrepancy/defect, the
candidate should immediately report the
matter to the Invigilator for replacement of
Question Booklet (QB) and O.M.R. Answer
Sheet. No claim/objection in this regard will
be entertained after five minutes of start of
examination, candidate will be liable for the
same.
2. Read allinstructions on the reverse of 0.M.R. Answer Sheet.

3. OnO.M.R. Answer Sheet, use blue ball point pen only. Please, fill your Roll
No. and other information correctly in O.M.R. Answer Sheet.

4. Allquestions carry equal marks. Foreach wrong answer 1/3 mark of the
question will be deducted.

5. If more than one response is marked for a question, it would also be treated
as wrong answer.

6. Each question has five options/circles. First four options/circles A, B, C and
D are related to appropriate answer and fifth option/circle ‘E’ is related to
‘Question not attempted'.

7. Toindicate the correct answer, the candidate has to fill in only one option/
circle A, B, C or D with blue ball point pen for respective question number on
the OMR Answer Sheet. If the candidate does not want to answer any
question then the fifth option/circle ‘E’ should be darkened.

8. 1/3 part of the marks will be deducted for the questions, if none of the option/
circle options are darkened.

9. [Ifacandidate leaves more than 10 percent questions or does not darken any
of the five options, he/she will be disqualified for the exam.

10. Candidate will be given 10 minutes extra to make sure, if he/she has filled
up any one option/circle for each questions.

11. Ifthereis any sort of ambiguity/mistake either of printing or factual in nature
in Hindi or English version of questions, then the English Version will be
treated asfinal.

12. Use of Mobile Phone/Bluetooth Device or any other electronic gadget in the
examination hall s strictly prohibited. If any such prohibited material is found
with any candidate, strict action will be taken against him/her as per rules.

Warning : If a candidate is found copying or using unfair means or if any
unauthorized material is found in his/her possession, F.|.R. will be lodged against
him/her in the Police Station and he/she would be liable to be prosecuted under
State Public Examination (Measures for Preventions of Unfair Means in
Recruitment) Act. 2022 and Amendment Act, 2023. The act has provisions of
imprisonment of 10 years to life and fine up to¥ 10 crore. Board may also debar
him/her permanently from all future examinations conducted by the Board.
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WRA & IAX-IITH YT HSA () HT A=A,

FfafEa A o e WA R Ry g ?

(A) TR

(B) aHER

Q) ST

(D) SER

(B) 31 aRd e

“TsE wie Tag RS {9 &9 ¥ TS T=
& Ferferaa et st e agamdr

(A) i IS
(B)  EIAIIE I T®
(©)  SierqE ol
(D) IET AR HTEATTS
(

E) AR 99T

2011 HT JEOET F AR, T BT T
ISUIGRICACREID I

(A) 943 HTEAT/1000 T&T

(B) 914 AIEAT/1000 T&T

(©) 928 ATEAT/1000 T&T
(
(

D) 933 HIET/1000 T6T
E) 3 and wed

MS PowerPoint H W WS I & o
TrfeTiEd § & HIF-TT STEHE Hoit HT STINT (6T
ST 2

A)  Ctrl+Alt+N

(

(B)  Ctrl + Shift + D
(C)  Ctrl +Shift + N
(D) Ctrl + Alt+D
(B) raRa ued

et g7 Fgifud sraamst | a9 arelt (At BT Far
AL :

(A) et g
(B) it gt
(©)  elewrse fugt
(D) Sieirg fgt
(B)  3raRd e

The headquarters of the North-Western Railway
Zone of India, is located at which of the following
places ?

(A)  Ajmer

(B)  Bikaner

(©)  Jodhpur

(D) Jaipur

(E)  Question not attempted

The “Sidhmukh Major Irrigation Project” primarily
benefits the following districts of Rajasthan :

(A) Tonk and Bundi

(B) Hanumangarh and Churu
(©)  Jodhpur and Pali

(D) Kota and Jhalawar

(E)  Question not attempted

What was the urban sex ratio of Rajasthan as per
the Census 2011 ?

(A) 943 female/1000 male
(B) 914 female/1000 male
(©) 928 female/1000 male
(D) 933 female/1000 male
(E)  Question not attempted

Which of the following shortcut key, is used for
creating a duplicate slide, in MS PowerPoint ?

(A) Cul+Alt+N

(B) Ctrl + Shift+D

(C) Ctrl + Shift + N

(D) Ctrl+Alt+D

(E)  Question not attempted

The soil type formed due to sediment deposition
by rivers is known as :

(A) Red soil

(B)  Black soil

(C) Laterite soil

(D) Alluvial soil

(E)  Question not attempted
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TISTEAT ol &t HIGeTT H3i i o ?

(A)  TEmHaRt
(B)  HHATITATH
©) ag=RTIS
(D) =TT

(B) 31 aRd e

TSI & FASAT THEEN H gaferd dh-al,
ST+ g S 3SR A Farae & {0 @@= # Hie @
B SATHATATE, ST BEd & -

(A) =T

(B)  dTrgAT

© =Es

(D) @

(B) 31 aRd e

W U%p uied qied g wihd fear

rafaiaa & ¥ Hi9 97 A=, AR F FITenT BF

AT § T IET AT ?
(A) 99

(B) IO

(©)  sregar

(D)  T@d=ar

(B)  3TaRd e

TR THR F Fefaiaa fowmn § ¥ S9-ar
TI9mT TS0 B AT TR (TR T
Freprart) % feru fFrereT 3 S ST B eaT e ?

(A)  TAT TIE TR, TSI TIHN
(B)  TRUTICTSRT FeTHTT, TSTEATH HIHT

(C) & TIHRT, TSI TIHR

(D) 9IS AT [THT, TSI TIHR
(B)  argand e

Who was the first woman Minister in Rajasthan ?
(A) Diya Kumari

(B) Kamla Beniwal

(©)  Vasundhara Raje

(D)  Yashoda Devi

(E)  Question not attempted

The folk art-form prevalent among tribal
communities in Rajasthan, wherein a needle-like
tool is used to insert black pigment into the skin for
adornment, is called :

(A) Mandana

(B) Godana

(©) Kavad

(D)  Veel

(E)  Question not attempted

According to the Rajasthan State Budget 2025, a
Gharial Rearing Centre, will be established at
in Rajasthan.

>

(A) Karauli

(B) Sawai Madhopur
(©) Kumbhalgarh
( Kota

(E)  Question not attempted

S

Which of the following words is not found in the
Preamble of the Constitution of India ?

(A) Federation

B)  Republic

C)  Fraternity

) Liberty

Question not attempted

)

(
(
(
(E

~

Which of the following departments of the

government of Rajasthan performs monitoring and

coordination function for all the municipal bodies

(Urban Local Bodies) of the state ?

(A) Department of Local Self Government,
Government of Rajasthan

(B) Department of Municipalities, Government

of Rajasthan
(C) Department of Home Affairs, Government
of Rajasthan
(D) Department of Chief Operations,
Government of Rajasthan
(E)  Question not attempted
P.T.O.



11.

12.

13.

14.

15.

TISTEAT |, STl THTE HTL0T 3 TeTU, 379 YTt &
FRT, Ffarad 7 § 6 ‘SAqey’ & &1 H JET
STATE ?

(A) wam e

(B) 3T

©) Ut g

(D) Trots frg

(B)  argand e

T, SIS AR ST A A L &

15 10 6
I # ¥ 1w 39 AT H FAE 10%, 10% A
20% 1 TG HI AT &, T I AT H T SR 2

(A) 22:30:55
(B) 23:33:60
(C) 15:10:48
(D) 22:33:60
(B) IraRa ueA

RO 9T BT 37T, frtaiad § ¥ e @
o R ?

(A)  SER

(B) I=HT

© =am®

(D) w=oEaT

(B)  3raRd e

A TUT B Tierest fReft &1 &1 20 fo71 § ¢ 96t 2,
ST B aUT C et 39 24 T # 2 o 2l afe
A, B TUT C THeTsT 36T 519 BT 16 &7 # &2 T &,
Tt A TUT C THTHT 3T BT BI b= T H BTl ?

(A) 34
(B) 28
©) 30
(D) 32
(B)  3raRd e

TS TSE 202526 & ATHR, HIHI H [0
ISPt The, TSR & [h@ TR | Ta fham
ST 2

(A)  dTEH

(B)  wHdTET

(©) WA

(D) B

(B)  3raRd e

12.

Who among the following, is known as the
‘Waterman’ for his efforts, in water resource
conservation in Rajasthan ?

(A)
(B)  Arjun Lal

(©) Gopal Singh
(D)
(E)  Question not attempted

Pratap Singh

Rajendra Singh

The monthly salaries of Ram, Ajay and Aslam are
. .1 1 1
in the ratio —:—:—.
15 6
increased by 10%, 10% and 20% respectively, then

their salaries will be in the ratio :

If their salaries are

(A) 22:30:55
(B) 23:33:60
(C) 15:10:48
(D) 22:33:60
(

E)  Question not attempted

In which of the following places, is the Maharana
Pratap Airport located ?

(A) Jaipur

(B)  Pushkar
(C) Dabok
(D) Khandela
(

E)  Question not attempted

A and B together can do a work in 20 days,
whereas B and C together can do it in 24 days. If
A, B and C working together can do the same work
in 16 days, then in how many days will A and C
together do the same work ?

(A) 34
(B) 28
© 30
(D) 32

(E)  Question not attempted

As per the Rajasthan budget 2025-26, the Centre of
Excellence for Maize, will be established in which
town of Rajasthan ?

(A) Barmer
(B) Banswara
(C) Bharatpur
(D) Bikaner

(

E)  Question not attempted



16. P TSI ATHE  HIA HATS TS b RITs
fagte fpam a2
T fgw Ty faspedt # ¥ o9 SUYER ST HT A
B
(A)  TsTEE R
(B)  IromHEM
(©)  IomyETT
(D) o Tt g
(B) 3raRd e
17.  Frfeiad & § SIH-91, T 99 SIS ARl 2 ?
(A) A BE
(B) IR
(C) THR
(D) 3fruT
(B) 31 aRd e
18.  fmferRad # & Hia-HY 92T TR 7<) 6 W "3t
z?
(A)  g®d
(B) W
(C) T
(D) ==
(B) IraRa ueA
19. A, B3I C 7 %A T 36,000, T 40,000 3T T 48,000
T [7I9T FTH WIGERY E HT | T F 31d | T 62,000
FPAATH, A 3T CH AT A FT AR ?
(A) 6,280
(B) ¥ 4,000
(C) T 5,000
(D) T 6,000
(B)  3raRd e
20. FrlAREd | ¥ fPE goarae! & g5 # 3ThaY B
AT BT A [HIATAT ?
(A)  TomIET e
(B) TSI AA
(©) TSHE fE
(D) oI 3R E
(B) rIaRa ued
M Ds22

17.

19.

20.

Which Rajput ruler revolted against Mughal
Emperor Aurangzeb ?

Choose the most appropriate answer from the
options provided below :

(

>

) Raja Man Singh

(B) Rana Sanga

(©) Rana Pratap

(D) Rana Raj Singh

(E)  Question not attempted

Which of the following is not a Web Browser ?
(A) Google Chrome

(B) KompoZer

(C©) Safari

(D)  Opera

(E)  Question not attempted

Which of the following is a tributary of the
Gambhir River ?

(A)  Sukri

(B)  Morel

(C©) Kalisindh
(D) Sesa

(

E)  Question not attempted

A, B and C entered into a partnership by investing
% 36,000, X 40,000 and 48,000 respectively. At the
end of the year, what is the difference between the
shares of A and C out of the total profit of ¥ 62,0007
A) 6,280

B) ¥ 4,000
C) 5,000
D) 6,000

E)  Question not attempted

Who among the following led Akbar’s forces in the
Battle of Haldighati ?

(A) Rana Udai Singh
(B) Raja Todar Mal
(©) Raja Man Singh
(D) Raja Amar Singh
(

E)  Question not attempted

P.T.O.



2. F gty St A fAeHd U9 B A B Sd §,
TP F AT E
T UG I I |
(A) 3%t
(B) &
Q) SR
(D) 3™
(B)  3raRd e
22, frffEd & 9 fF9 9ARA TS50 # “SWTREHTAT
TR Rt Rea g 2
(A)  3rEH
(B) HAlCH
Q)  smervEer
D) &=
(B) IraRa ueA
23.  TSTRUT H HIF A BT IRt 1 HH o FaT
AT ?
(A)  TSWT HeATOTST HAT
(B)  STYcetT HTaT HeAT
©  wgER AT
(D)  STUIAR T
(B) IraRa ueA
24. ST 3T Gmail T TH $HA famd &, at fteiaa
H Y HI-97 [Thed T8 STl T&1 a1 ?
(A) g ST
(B)  CoRT WIHTC T farehed
© rCTHEA
(D) sASHSS
(B)  3raRd wed
25. AT & 6 T o T, T §ReTE g ISy
TSTE 202526 F IAR HfaREd § F #A-9
HTIHH I[E FHI BT HETTATE ?
(A)  TEHAT STATHT ST HTUHA
(B) AT SICTHY [ T ATSTAT
(©) A=A HATa! {4 T TRt
(D) AT U WHAT &1 Tt H1ses
(B) rIaRa ued
l Ds22

21.

22,

23.

24.

25.

Substances that turn blue litmus paper to red are
in nature.
Choose the most appropriate answer.

(A) acidic

(B)  basic

(C©)  hydrophobic
(D) neutral

(E)  Question not attempted

In which of the following Indian state is the
“ Agasthyamala Biosphere Reserve” located ?

(A) Assam

(B) Karnataka

(©)  Andhra Pradesh

(D) Kerala

(E)  Question not attempted

Which fair in Rajasthan is also called the ‘Kumbh
of the Tribals” ?

(A) Diggi Kalyanji Fair

(B)  Sheetla Mata Fair

(©)  Bhartrihari Fair

(D) Baneshwar Fair

(E)  Question not attempted

While composing an email on Gmail, which of the
following options is not present ?

(A) Resend

(B)  Text formatting options
(C) Attachfile

(D) Insert emoji

(E)  Question not attempted

For the development of border areas, which of the
following programs, is said to be launched by the
Rajasthan Government, as per the State Budget
2025-26 ?

(A) Mukhyamantri Jaisalmer Utthan Karyakram
(B) Mukhyamantri Jaisalmer Vikas Yojana

(©) Mukhyamantri Seema-Varti Kshetra Vikas
Pariyojana

Mukhyamantri Thar Seema Kshetra Vikas
Karyakram

(E)  Question not attempted



26. O AaF 3fqa FATaRad # o fpaH ST fadt
g2
(A)  HTSHTIO
(B) SISl i WIS
C) TegHeEWTR
(D) <o ASr
(B)  argand e
27. oA ¥, fEEw Aifd sma @Y 10t et
HINA B ISh F, WIT {orar ?
(A)  faremet
(B) TSI
(© Tt
(D)  FwEs
(B) IaRa ued
28. 8 10 SA, 2025 F SR, 1897 TATHT ARAT
Toaq T e, Fal il fpar T o 2
(A) ITEASETE, SR
(B) g Tawett
(C) TS, FARCH
(D) 9a=9aR, Afsam
(B)  3raRd e
29. forrietRaa & & Si-a1 THEN & T &1 oreqor Tét
AATSITATS 2
T faT T fapedt 7§ HOE SO TR T AT
Eae
(A) 3= TETTHS fasTeRar
(B)  3ereh gAY ATAT
(C)  3rfere gETATOTE
(D) TS H It
(B) IrIaRa ued
30. TSR & W STEX B, “HicHl HT AET W Fa
STAT S ?
(A)  SHTHT
(B) @R
Q) SRR
D) =TT
(B)  3raRd e
M Ds22 7

26.

27.

28.

29.

30.

The Luni River ultimately drains into which of the
following ?

(A) Rann of Kutch

(B) Bay of Bengal

(C) Indian Ocean

(D) Chambal River

(E)  Question not attempted

Who participated from Rajasthan, in the 10th
Governing Council Meeting, of the NITI Aayog ?

Education Minister

B) Governor

C)  Finance Minister

D)  Chief Minister

E)  Question not attempted

Where was the 18th Pravasi Bhartiya Divas
Convention held, during January 8 to 10, 2025 ?

(A) Ahmedabad, Gujarat
(B)  New Delhi

(C) Bengaluru, Karnataka
(D)  Bhubaneshwar, Odisha
(E)  Question not attempted

Which of the following is not considered as a sign
of soil degradation ?

Choose the most appropriate answer from the
options provided below :

(A) High chemical toxicity
(B) High humus content
(C©) High soil salinity

(D) Increased soil erosion
(E)  Question not attempted

Which city of Rajasthan, is also known as the “City
of Bells” ?

(A) Jaisalmer

(B) Jalore

(C) Jhalrapatan

(D)  Jhunjhunu

(E)  Question not attempted

P.T.O.



31.

32.

33.

34.

35.

P’ ITEE F [T T AL E

(A)  STTETIMATEIE

(B) STt TeRU T IUHTT BT ATAAT &
(C) S TFT T IUBR BT T ATFATET
(D) ¥ oY 9gd 3UHN (T MY &

(

E)  3rand 9ed
TTeTREd ITeal # | B IH-9T1 “BH BT It

E)  3raRd ued

37ET % BT T AT AT ot BT 3T 7 -

(A) 3T A BT AT 7O & B AT &
STl

(B)  3iey afery Bt Wi HT T |

(C) ey ferT Y 9T el T T ST |
(D) 3 fer & IT a2 ST |

(

E)  3rana ued
ferferRad # @ 7o Ffer T 3eTRROTR

~

]

(
(
© Ty
(
(

E)  3raRd ued

M DS22

36.

37.

38.

39.

40.

41.

TrTTeTREr aTerrt H & HI-T AT ST AhT
FTISTEOTE ?

(A) AT PeT IR TIT T |

(B) SHAITMqH S T |

Q) =it 3rec faer aTsTuet qem=ra =t o |

(D)  =ifg 3r¥ft-3redt ForepetT & |

(B) 3T aRd wed
Trferiad # ¥ 915 aTer 7 99 FHIT

(A) BTl TR IRATT AB (T BT E 2 |
(B) W I HEIA HLIETE |

©) T FH T GANIEGE |

(D) 9T I qF IAB! AT @ |

(

E) 3 aRd 99
frTaRed o 9 -9 erfaaras GaT=a &2

(

(B)
©
(
(

o

)
E)  3raRa wed

*ADVERTISEMENT 9T &1 fa=st & :
(A)  SgEISoT
(B) g3
©) faem=

(D)  fafaar

(

>

o

)
E)  3raRa wed
TrrerietRa orest & § B ie-7 reg TSt =18t &2
(A)
(B)
©
(
(

~

>

%‘%%‘%

D)

E)  3raRa wed



2. AIES F TIR TITE
(A) w7
(B) T%
© %
(D) 3
(B)  3raRd e
43. ‘A WHIALE?’
IO TR H WATH BT BIA-TATHS S ?
(A)  TyTgaTaS gda™
(B)  WTATH® TIATH
Q)  dderaras IATH
(D)  gfR=TOTaTaE qaTH
(B) TR "
4. -1 ¥ TqU T qH osat B e G-I A
TET 7T 3 FATTLE T UTsaT A BT :
-1 (THH) -1 ()
(@) | s @ | =t
(b) | 7= (i) | i
(© |31 (iii) | 3TE
(d) | g (iv) | 98
T fw Ty et # 9 T ST &7 99 SIS
(A)  (a)-(ii), (b)-(ii), (c)-(iv), (d)-(i)
(B)  (@)-(iv), (b)-(ii), (c)-(i), (d)-(iii)
©  (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)
(D) (a)-(iii), (b)-(i), (c)-(ii), (d)-(iv)
()  STIaRa wed
45.  TTAfaREd H ¥ HI-9T1 a1 OTareh faereor H1
SEEIITAR &2
(A)  TTTHT F I THB I FUS B
(B)  HHRI AT ATA BT
(O #ETS H TX-9T qur W @igAr qiwa B
(D) &I ATA-ATHA ST 98 TS &
()  3TaRa wed
M DS22

46.

47.

48.

49.

50.

“RTOTST STeg BT {1 9Teg &Y :
(A)  sfasit

(B)  wrerrsit

©  wHemst

(D) wrees

(B)  raRd e

T AT FETAR BT HE 3T -
(A)  ghIEEAT

(B) e THTAT

©) IEEAEE

(D)  drHIAT

(B) 3TaRd wed

FreTRaa e & o Tpa# 31epe TR BTy
TIME?

(A)  SETHUS U E|

(B) U@ @R

© ISEHERET|

(D) TEAUw@EI

(B)  3TaRd wed

SAAT B TIHRY 0T H T I & $H &
Toh 7% o7 v fepaT STaT ® 2
(A  uu-faara

(B) FHA

©  FHETeTT M

(D)  TTEHRH

(B)  3ITaRd wed
ST T Hieer-feresg gh

P.T.O.



51.  Identify the grammatically most appropriate
sentence from the options given below :
(A) Iseen never such a beautiful sunset.
(B)  Inever have seen such beautiful sunset.
(C) I'have seen never such a beautiful sunset.
(D) Ihave never seen such a beautiful sunset.
(E)  Question not attempted
52. For the given Assertive sentence, choose the
correct Exclamatory sentence from the options
provided :
It looks very odd.
(A) Odditis!
(B)  Looks very odd, right ?
(©) How odd it looks!
(D)  Itreally is odd.
(E)  Question not attempted
53. Choose the correct Passive form of the given
sentence from the options provided :
The lawyer gave Arun the details of his uncle’s
will.
(A)  Arun was given the details of his uncle’s
will by the lawyer.
(B)  The lawyer will give Arun the details of
his uncle’s will.
(C)  The lawyer is giving Arun the details of
his uncle’s will.
(D) Arun was got the details of his uncle’s
will from the lawyer.
(E)  Question not attempted
54.  Fill in the blank by choosing the most
appropriate answer from the options given
below :
He hinted that he some pocket money.
(A) wanting
(B)  had want
(©) want
(D)  wanted
(E)  Question not attempted
M Ds22
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55.

56.

57.

58.

Fill in the blank by choosing the correct option :

I saw Rohit a concert last Saturday.

(A) at

(B)  since

(©) on

(D)  off

(E)  Question not attempted

Which of the following is the correct
transformation of the given Interrogative
sentence into an Assertive sentence ?

Isn’t virtue its own reward ?
A)  Virtue is rewarding!

B)  Virtue is not its own reward.
) Virtue is its own reward.

(

(
(C
(D)  Virtue may be its own reward.
(E)  Question not attempted

Choose the most appropriate Hindi word for
the word ‘MEMO'.

(A)  FuA

(B) vl

© Irg-TERIT
(D) @y

(E)  Question not attempted

Choose the most appropriate option to convert
the given sentence from Direct Speech to
Indirect Speech :

He asked, “What were you reading yesterday
night ?”
(A) He asked the previous night what I was

reading.

(B) He asked what was I reading the
previous night.

(C) He asked what I had been reading the
previous night.

(D) He asked what I have been reading the
previous night.

(E)  Question not attempted



59.  Choose the sentence with the correct usage of
Punctuation from the options given below :
(A) Narayan Singh my new coach, will teach
me, new football techniques.
(B) Narayan Singh, my coach, will teach me
new football techniques.
(C) Narayan Singh; my coach will teach me
new football techniques.
(D)  Narayan Singh - my new coach will teach
me new football techniques.
(E)  Question not attempted
60. Choose the most appropriate English
translation of the given sentence from the
options provided :
W TER ¥ T TR Aee-4-5es A
e |
(A) I think that you must arrive to this place
quick.
(B)  Inmy thinking, you come fast here.
(C)  Ithink so you come quickly to here.
(D)  Ithink that you should come here as soon
as possible.
(E)  Question not attempted
61.  Fill in the blank in the sentence given below by
choosing the most appropriate answer from the
options provided :
adults know how to conduct
themselves in public places.
(A) The few
(B) Many an
(©)  Much
(D) Many
(E)  Question not attempted
M Ds22
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62.

63.

64.

65.

Choose the most appropriate option to translate
the given sentence from English to Hindi :

Three armed men barged into the manager’s
cabin.

(A) T BRERET MEHT A4S & BB A

STEREwI g |

(B)  HASR A T EUOREs MEHAA B 3ra
FHTIBRGT H STRAAT T

(C) @ eRENEE EHT AASR % HUBd |
Y|

T ERERET EHr A4S & Brwy |
AT

(E)  Question not attempted

(D)

For the given sentence, choose the most
appropriate answer from the options provided :

Air-pollution is serious problem in

Delhi these days.
(A) some

(B) a

(©) the

(D) an

(

E)  Question not attempted

Fill in the blanks in the given sentence by

choosing the most appropriate words from the

options provided :

You may play with my pet , but my
boy, do not cause any harm to it.

(A) deer, dear
(B)  dear, deer
(C©) dare, deer
(D) dire, dear
(E)  Question not attempted

Which of the following is the correct

transformation of the given Assertive sentence

into a Negative sentence ?

I am happy with what I am earning now.

(A)

(B) I am not happy with what I am earning
now.

I will be happy if I earn more than now.

(©) Iam happy, I am not earning now.

I am not happy that I am not earning
now.

(E)  Question not attempted

P.T.O.



66.

67.

68.

69.

70.

M DS22

frfaiaa & ¥, fFa faead TSt HTeI-5uE | 6.
“OITRLL” Y, TAAT T AT ?
(A) el fag rETaa
(B)  wOT We[HT
Q)  H=TST qHA
(D)  TWAHBILT SR
(B)  3raRd e
A 1949 H, ‘FER (YSX) TERAT HT I, [67.
FAfcrEd # W 69 Tshl &, THIHIT & T8 gl
aqT?
T feT T fopedt 7 ¥ How SUgE TR BT gATT
g
(A) T, TRYR, TR 3R QmaqRT
(B)  WWATET, HieT, ISt 3R TS
(C) 3T, LAY, FHIAT 3T AT
(D) SR, SR, SIHeTHT 3R BT
(B) IaRa ued
TAiEd § | HA-HT TRET B qET TaH 97| 68.
FEHAENAE 2
(A)  wHTEA
(B) I BT
C) SrsamTsie
(D) SEHHe A
(B)  Irqaid wed
TEIOT S F1 T & T Bl Uehe HIATY, TEEIaTR: | 69.
(A) Y
(B)  3turTaY
(© wwmEt
(D) I&@Nadr
(B) I IaRa ued
TE FAT (Union List) WRAM™ Hiqemd &t 69 |70.
ST BT e TR ?
(A) 11th
(B) gth
(€ 7th
(D) oth
(B)  Irgand e
12

Who among the following, composed the famous
Rajasthani poetry collection “Pagfero” ?

(A) Gordhan Singh Shekhawat
(B) Mani Madhukar

(©)  Meghraj Mukul

(D)  Satyaprakash Joshi

(E)  Question not attempted

Greater Rajasthan was formed in March 1949, after
the integration of which of the following states ?

Choose the most appropriate answer from the
options provided below :

A Tonk, and
(A)
Shahpura

B) Banswara, Kota, Bundi and Jhalawar

Dungarpur,  Kishangarh

C)  Alwar, Dholpur, Karauli and Bharatpur
D) Jaipur, Jodhpur, Jaisalmer and Bikaner

~_~ o~ o~~~
™

) Question not attempted

Which of the following is the second-largest
artificial lake in Asia ?

(A) Sambhar Lake

(B) Kolayat Lake

(©) Didwana Lake

(D) Jaisamand Lake

(E)  Question not attempted

The trait that expresses itself in F1 generation

A) Hybrid

B)  Recessive

(

(

(©) Dominant
(D) Mutant

(

E)  Question not attempted

The Union List is part of which schedule of the
Constitution of India ?

(A) 11th
(B) eth
(©) 7th
(D) oth
(

E)  Question not attempted



71.  HE 2025 & 3id |, TR TLHR 3T AR TLHR | 71.
(TETHIT) 3MTSTd [T T o 2
(A) 3R efies
(B) 3O ITH
(C) I IS
(D) 3L ey
(B)  3rganRd e
72, fodER 2024 H, JUS HIATEH AT (B! (AR #) Fpy | 72.
ST ?
A) H=E
(B) afHeTg
©) fowt
(D) oA
(B) 3raRd e
73. A TS a%] T 800 H WG 31T IH 10% AT % AT | 73.
B &1 o fS8T| B 3 15% AT & AT C i o= T
C ¥ 37 T & IeTq T o THTT 2
(A) 1,012
(B) %920
(C) T 976
(D) % 1,000
(B)  3raRd wed
74.  TReTTE TasrehetT et 1 37 utg Tl (dfe) |74.
FT AW FATRY, o TR iFa= grT ‘wRa &t
ATTTAT” FHETITATE 2
(A)  FOHI-STS TETGT
(B)  woil-auit
(C) IS IETHTT
(D) TrAT-HT®
(B) 3raRd e
75.  TF ToddTol 7 2191 I F 84 I I, [T 39HT| 75.
3T 2 T ¢ T 3HBT 21 TRATBT3NATE
(A) 48T
B) 4=
© 4=
D) 46T
(B)  3raRd e
M Ds22 13

Under which of the following initiatives of the
Rajasthan Government and the Government of
India, were state-wide mock-drills organized, in
late May 2025 ?

(A) Operation Shield

(B)  Operation Rakshak

(C) Operation Safeguard

(D)
(E)  Question not attempted

Operation Shelter

In December 2024, which team won the Syed
Mushtaq Ali Trophy (in India) ?

(A) Mumbai

(B) Tamil Nadu
(C) Delhi

(D) Gujarat

(

E)  Question not attempted

A bought an item for ¥ 800 and sold it with 10%
profit to B. B sold it with 15% profit to C. How
much C paid for the item ?

(A) 1,012

(B) %920

(©) X976

(D) % 1,000

(E)  Question not attempted

Name the iconic painting of the Kishangarh
School, acclaimed as the “‘Monalisa of India” by Eric
Dickinson.

>

) Roopmati-Baz Bahadur

=

Bani-Thani

~

Bundi Ragamala
) Dhola Maru
E)  Question not attempted

)

(
(
(C
(
(

A batsman makes 84 runs in his 215t innings and
thus increases his average by 2 runs. His average
of 21 innings is :

(A) 48runs
(B) 44runs
(©) 42runs
(D) 46 runs
(E)  Question not attempted

P.T.O.



76.

77.

78.

WRA & AT HT, HI-AT TS &H, A, A1, | 76.
T 7 ST U & MR W HSWTT F A9 F
Tetua g ?
(A)  STTES 40
(B) IR 3
(©) ITHWI21A
(D) TSI 15
(B)  Irgand e
T 2T ATIROTAT 9 He H W AT 8, AThT dett 7 | 7.
TN &F BRI I WA H 6 H AF @ | T A g
EIST BT TE S b= o H WTeAt BT 20 2
1
(A) 24
(B) 20
(C) 23
p) 2+
(D) 5
(B) IaRa ued
Trfeiaa # g1 ¥ 19T 77 Wifass ot &1 g2 | 78.
H &1 7T 37 et ¥ e B S 37 [N B we i
W?ﬁ% :
-1 -2

(ftferer a7om) (&)
(@) | ®H d JEEE W (1) | FETH (Na)

R
(b) | FE eI A [(i) | 9RT(Hg)

Y PIETSATHBATE
() |FeHTHEISPE (i) | HET(PD)

qAD
d) | FSTEFAEE  |(iv) | D6 (Ag)
frfeiad faseat 9 & WErsaR I+
(A)  (a)-(ii), (b)-(i), (c)-(i), (d)-(iv)
(B)  (a)-(i), (b)-(i), (c)-(iv), (d)-(iii)
©  (@)-(i), (b)-@), (c)(ii), (d)-(iv)
(D) (@)-(), (b)-(iii), (c)-(ii), (d)-(iv)
(B)  Irgand e
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Which Article of the Constitution of India, deals
with prohibition of discrimination on the grounds
of religion, race, caste, sex or place of birth ?

(A) Article 40

(B)  Article3

(C) Article 21A

(D) Article15

(E)  Question not attempted

A cistern is normally filled in 9 hours but takes
6 hours more to fill because of a leak in its bottom.
If the cistern is full, the leak will empty it in how
many hours ?

1
(a2
(B) 20
© 23

1
©) 22

(E)  Question not attempted

Match the physical properties given in List-1 to the
metals that exhibit those properties given in List-2 :

List-1 List-2
(Physical Properties) (Metals)

(@) | Liquid at room |(i) Sodium (Na)
temperature

(b) | Can be easily cut |(ii) | Mercury (Hg)
with a knife

(c) | Excellent (iif) | Lead (Pb)
conductor of heat

(d) | Poor conductor of |(iv) | Silver (Ag)
heat

Choose the correct answer from the options given
below :

(A)  (a)-(iti), (b)-(1), (c)-(iD), (d)-(iv)
(B)  (a)-(ii), (b)-(3), (c)-(iv), (d)-(iii)
(©  (@)-(ib), (b)-(1), (c)-(ii), (d)-(iv)
(D) (@)-(0), (b)-(iid), (c)-(ii), (d)-(iv)
(E)  Question not attempted



79. v P et #ieY, et & fefeted § 9 | 79.
fpa g g Reag?
(A) Herar
(B) IIE
©) IR
(D) 3IETH
(B)  argand e
80. I ITHEATE 5 : 6 AU | & 3R IAHT LCM 210 | 80.
2, T IAHT HCF 2 :
(A) 14
(B) 10
© 11
D) 7
(B) IraRa ueA
81. WA &I TR 2011 F AR, T T ferepeai # 4 | 81.
TR & Tferiad et # ¥ fope fvet # wgrean
T Y AT AT ?
(A) S
(B)  SATIR
© ==
(D) ¥
(B) IraRa ueA
82. TrfcREd # § HI-VT Bl TSI BT T T |82
FEATATE ?
(A) A
(B)  IRTAT T
© fest
D) X
(B) I aRa ueA
83. feafmTTZ? 83.
< T T faedt # ¥ FEH I9YEd 3 B A
e
(A)  TITFCIIT AT B HI AThAT
(B) s T =t ufshaT
(C) WredaR # Ffeat HT Tar T AR 3% b
I Bt AfehaT
(D) [T Bl I BIA P WTHAT
(B) 3raRd e
l Ds22 15

In which of the following villages of Rajasthan is
the main Tripura Sundari Temple located ?

(A) Mandawa

(B) Umrai

(©) Ranakpur

(D) Deshnok

(E)  Question not attempted

If two numbers are in the ratio 5 : 6 and their LCM
is 210, then their HCF is :

(A) 14
(B) 10
© 1
(D) 7

(E)  Question not attempted

As per the Census of India 2011, from the given
options which of the following districts, recorded
the highest literacy rate in Rajasthan ?

(A) Baran

(B)  Sri Ganganagar

(©)  Jhunjhunu

(D) Sikar

(E)  Question not attempted

Which one of the following flowers is known as the
‘State Flower” of Rajasthan ?

(A) Lotus

(B)  Desert Rose
(©) Rohida

(D) Kaner

(

E)  Question not attempted

What is debugging ?
Choose the most appropriate answer from the
options provided below :

(A) The process of installing software

(B)  The process of writing code

(C) The process of finding and fixing errors in
software

(D)  The process of deploying software

=

Question not attempted

P.T.O.



84. TeAfeTigd # ®, Fpw ITer-3i= I, 'aq A&’ 6 T A
TATeBd AT ST HHaT S ?
(A) T
(B)  hsiRT
(©) amem
(D)  TraoTERT
(B)  3raRd e
85. 2011 I FAUMT & AR, TSTRATT Bt AT
T TSt STARTOTT 61 AT H :
o T Ty et 7 T TOE U T BT AT
Y
(A)  =eIE
(B) 3IAATEITET
© =T
(D)  Tereit ot a<ich | a1 &t ST HAehal
(B) 31 aRd e
86. 3IW 2025 #, [HY WRAW Red o (RBI) &7
IU-TTa= o fear T 3k & g ug o forge B
EISIRESIRIESICE]
(A) St ST
(B)  3igyISrIIom
Q) gAHIT
(D) T I|TaTA
(B) IraRa ueA
87. Tafeigd | ¥ FhE TSR MRAHT A, |ig AT &
MHTET B, LT A FAWET T W
GICAER IR I
(A) BT
(B)  #idtag
(©) wERrIEr
(D)  wcrsat
(B) rIaRa ued
M DS22

84.

85.

86.
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Which one of the following musical instruments
can be classified as a “Tat Vadya’ ?

Turhi
(B) Kanjira

(C) Tasha

(D) Ravanhatha
(

E)  Question not attempted

According to the 2011 Census, the Rajasthan's
population density in comparison to the previous
census has :

Choose the most appropriate answer from the
options provided below :

A) decreased

B) remained the same

(
(
(©)  increased
(D)  there is no way to tell
(

E)  Question not attempted

In April 2025, who has been appointed as the
Deputy Governor of the Reserve Bank of India and
is also the first woman to hold this position ?

A)  Jyoti Sharma
B)  Anju Rathi Rana

(

(

(©)  Poonam Gupta
(D)  Santosh Agarwal
(

E)  Question not attempted

Which one of the following Rajasthani singer,
made the Maand style of folk singing popular, at
the national and international level ?

A) Harkabai
B)  Meethibai

(

(

(©)  Gavari Devi
(D) Moti Devi

(

E)  Question not attempted



88. FaAAT H AUBR MU (2005) F A, |88.
fr=fafaa & ¥ few fow @ ddfua SRt &
TheIeh0 & T A BT ST ?

T UG I I

(A)  TFAT THRY BT ZRT I T SEATIST B
ot

(B) fepeft fostt fmer & srrier sE=mRE gIT
T AP A=

(C) Ut BRI ST HIRA Bt THaT AT THHAT B
A H ST ThaT 2

(D) S rdstis HEeat | e srusiet &
TR 3 e

(B)  3raRd e

89. SIrerqR I, TAlcRad # & 6| @i J ett # [89.
Algad FX O SAd §T IS A fSfad wes,
TEHT T BT ?

(A) TiEg T

(B) sRTTT

©) = mTg™

(D) gz gd
(B) IraRa ued

90.  IYST YEEH Tk H (T RGd | o, TI=-9T =07 37 | 90.

T 3Mare ?

(A) OTr

(B) A

© A
(D)  wfafsmar

(B)  3TaRd e

91. fyfrad # ¥, fFu ToRu™ § ‘s et |9
(FA-IAT) T, AT Fo7hett & AU, fqrg =
BT YT & ?

(A) Pt g SrETad
(B) HIHABISRY

(©) e e

(D) SIE™

(B) 3@ e

92.  TOTEAT WIHR &F JAq Tl Q1w fawnT & w4 | 92.

(ST 2025 F TTAR) B E ?
(A)  STRTIRTH 9T
(B) feIStaa
O weAfeamaR
(D) s e
(B)  3raRd e
M Ds22 17

Under the RTI Act (2005), there is an exemption
from the obligation of disclosure of information
relating to which one of the following matters ?
Choose the most appropriate answer :

(A) Categories of documents
Government office

held by a

(B) Monthly remuneration received by office
staff of a private corporation

(©) Information that may jeopardize the

Integrity and Sovereignty of India

(D) Powers and duties of officers deputed

within public offices
(E)  Question not attempted

In which of the following folk dance forms of
Jodhpur, do women carry perforated pots, on their
heads, with burning lamps inside ?

>

) Gindar dance
B)  Agnidance
C) Chang dance
) Ghudla dance

Question not attempted

)

E

~ o~ o~ o~ o~
~

In the disaster management cycle, which of the
following stage, will come as the last stage ?

(A)
B)  Mitigation
C) Recovery

Preparedness

(
(
(D) Response
(

E)  Question not attempted

Who among the following, from Rajasthan, earned
international acclaim for his portraiture on ‘Blue
Pottery” ?

>

) Kripal Singh Shekhawat
B) Komal Kothari

(
(
(C) Birbal Singh
(

D) Dayaldas
(E)  Question not attempted
Who is the Minister of School Education

Department under the Government of Rajasthan
(as of June 2025) ?
A)  Jogaram Patel

(
(B)  Kirodi Lal

(©) Madan Dilawar

(D)  Gajendra Singh

(E)  Question not attempted

P.T.O.



93. TSR & rAfeiiad # ¥ 769 4 | (g%t i
e ) T SMEROT AT FAE ?
T feT T fapedt 7 ¥ Hee SUgE TR B gATT
E8
(A) 3R
(B)  witerareT
© =TF
(D) SHAHT
(B)  Irgand wed
94.  ISTRAT H, ‘TSI WS’ & TIATIFH B o 2
(A)  HAfeeTATerST
(B) TSt
O dFasRe™
(D) g AT
(B)  Irqand wed
95.  TISTEATA H TANAT Ec o T X Rerd & 2
T T5T 7T fospedt # F qEOW YT A BT AT
E¥
(A) BRI
(B) ST
(©) IR
(D)  FTR
(B)  Irqand wed
96. WRAT WAL THT FRT, AR HT Wlaem—, &
ST TTT T 2
(A)  2699E 1949
(B) 26 air 1947
(C)  263Mair1950
(D) 2679EX 1947
(B)  3aRd wed
97. R % HITLTH & AR, TdH WA AWK BT
DES % T T dfaer &1 ater &Y, @ &
HTI 3 TTSC EATST 3T TS T BT T B
(A) =R TR
(B)  Hife® TR
(©) AT HErpR
(D)  HifeTes e
(B)  Irgand wed
M Ds22
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Which of the following regions of Rajasthan has
the lowest forest cover (area-wise) ?

Choose the most appropriate answer from the
options provided below :

(A) Ajmer
(B)  Bhilwara
(C) Churu
(D)  Jaisalmer

(E)  Question not attempted

Who was the founder of the “Niranjani sect” in
Rajasthan ?

(A) Mallinathji

(B) Pabuji

(C©)  Saint Haridas
(D) Mehaji Manglia

(E)  Question not attempted

In which place of Rajasthan do we find the
Rampuria Haveli ?

Choose the most appropriate answer from the
options provided below :

(A)  Jhunjhunu

(B)  Jodhpur

(©) Udaipur

(D) Bikaner

(E)  Question not attempted

The Constitution of India, was adopted by the
Constituent Assembly of India on :

(A) 26 November 1949

B) 26 January 1947

C) 26 January 1950

D) 26 November 1947

E)  Question not attempted

(
(
(
(

According to the Constitution of India, it is the

of every citizen to abide by the
Constitution, to respect the National Flag and the
National Anthem of India.

(A)  Judicial Right

(B) Fundamental Right

(C)  Fraternal Right

(D)  Fundamental Duty

(E)  Question not attempted



98.

99.

100.

101.

102.

TS, TR 3R IMAATH & TS 31 H AT |98.
ST AT el ST T BT SATATE ?
(A)  FTH
(B)  amat
© @t
(D) et
(B)  3raRd e
T[STEATA 3T UTIHEAT b S AT T FHAT ot e |99,
HEI'I‘%ETNFT%
(A) 1270 Fmet
(B) 1170 Fewt
(©) 1070 FHwt
(D) 970 Tt
(B) 31 aRd e
fr=feiaa 9 9, ®19 J@ERt &, & fawa [100.
FHATBR I ?
(A) ==
(B) wESIIH
O IS
(D)  STOEITe |-
(B)  3TaRd e
=AfREa § 9 FI-AT T WS- UsgH g 2 [101.
(A)  HTeH
(B)  wHTEES
© fefem=
(D)  =Tgas
(B)  3TaRd e
T H, AT WX W HA-91 Fared =i |102.
TS ?
(A) =T ARTRE HT AT
(B) URER =TT
©) ST
(D) e Td v =™
(B)  Irgand e
19

The dialect spoken in the areas of Banswara,
Dungarpur and nearby hilly areas of Rajasthan is
called :

(A) Hadoti
(B) Mewati
C) Wagdi
Dhundhari

(
(D)
(E)  Question not attempted

The total length of the international border
between Rajasthan and Pakistan is approximately :

(A) 1270 km
(B) 1170 km
(C) 1070 km
(D) 970 km
(

E)  Question not attempted

Who among the following, was a famous artist, of
the Shekhawati Khyal ?

(A) Nanuram

(B) Lachhi Ram
(C©) Ugam Raj

(D) Jaydayal Soni
(

E)  Question not attempted

Which of the following is a protein-digesting

enzyme ?

(A) Maltase
(B) Amylase
(©  Trypsin
(D) Lipase

(

E)  Question not attempted

The highest judicial court, at the district level, in
Rajasthan is :

(A) Court of the Judicial Magistrate
(B)  Family court

(C) High court

(
(

)

) District and Sessions court

E)  Question not attempted

P.T.O.



103.

104.

105.

ARA &I FTWOET 2011 F NN, TERAH &
frfafea # @ few 5@ 7 femmaama (w1000
THT X AfEATST HI HEAT) T FHH gof {6aT 7127
qr?

St wEd me eha W o

ferm I 22T AET X H 2017 H 6 HAT & foU w1H
3T et ATEAT (BT #) T UoTIehoT ST E |

e : TS H Uget AT STgh! I FUTAT T 3R gt
T ol ATEAT Bl ST 5

faT 7T sriepel & SR wR, SAEET 2017 H oA A
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103.

104.

105.
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Which of the following districts of Rajasthan,
recorded the lowest sex ratio, (number of females
per 1000 males) in the Census of India 2011 ?

(A) Dholpur

(B) Dungarpur

(C) Jalore

(D) Pratapgarh

(E)  Question not attempted

Feb

Mar

Jan Apr May Jun

The given data shows the registration of bikes and
total vehicles (in thousands) for 6 months in 2017
in City X.

Note : In the chart, the first number represents
bikes and the second number represents total
vehicles.

Based on the given data, the increase in the
registration of vehicles other than bikes in April
2017 in comparison to Jan. 2017 is :

(A) 9000
(B) 8000
(©) 8050
(D) 9500
(E)  Question not attempted

Which of the following tourist spots has been
selected under the “Panch Gaurav” initiative to
represent the Jaipur district ?

>

(A) Nahargarh Fort
(B) Hawa Mahal
©
(
(

Amber Fort

)

) Jantar Mantar

E)  Question not attempted



106. foRET &TFRTIST UX 8% ATMh IT H 3 TY b Tehg g AT
3T FTEIROT ST 7 3R T 616 & | TE LRI AT
HY
(A) T 62,500
(B) 22,500
(C) % 24,000
(D) % 31,250
(B)  3raRd e
107. TfE (A +B) HT120% = (A —B) T 50%, ATA: B &:
(A) 8:3
(B) 7:3
<G 3:2
(D) 5:2
(B) 31 aRd e
108.  HTEIROT TSI YR i AT 3 T H T 50,806 TAT 3T 3T
5T HZ 59,210 BT AT & | TR I
(A) T 39,400
(B) % 38,100
(C)  Z38,200
(D) 38,360
(B) 31 aRd e
109. TSRAT HT FABA ARA & Hl HABA BT ATHT
T afasa® 2
(A)  14.19de@
(B) 537
(C) 7.8ufae@
(D)  10.4 WdeT@
(B)  3raRd e
110. 3IRTG YATATAT WRA & AfarEgd § d 6
ST / FEATRAT TS H EHT [ALA & ?
T fqw a7 fosedt # ¥ oW ST S HT A
B
(A) TSR, FeT UL 3 IRTT
(B)  TroreuT, feeett 3R He yget
(C)  TTSTEATH, 7T UG2T 37X A U9
(D) o, faeett 3R T
(B) rIaRa ued
l DS22 21

106.

107.

108.

109.

110.

The difference between compound interest and
simple interest on a certain sum of money for
3 years at 8% per annum is X 616. Find the sum.

(A) T 62,500
(B)  %22,500
(C) 24,000
(D) ¥ 31,250

Question not attempted

If 20% of (A +B) =50% of (A—B), then A : Bis :

(A) 8:3
(B) 7:3
< 3:2
(D) 5:2

(E)  Question not attempted

On simple interest a certain sum becomes ¥ 50,806
in 3 years and ¥ 59,210 in 5 years at the same rate
of interest. The sum is :

(A) 39,400

(B) 38,100

(C) 38,200

(D) 38,360

(E)  Question not attempted

Rajasthan  constitutes  approximately = what

percentage of the total area of India ?

(A) 14.1 percent

(B) 5.3 percent

(C) 7.8 percent

(D)  10.4 percent

(E)  Question not attempted

The Aravalli Range runs through which of the
following States /Union Territory of India ?
Choose the most appropriate answer from the
options provided below :

(A) Rajasthan, Madhya Pradesh and Gujarat

(B)  Rajasthan, Delhi and Madhya Pradesh

(C©) Rajasthan, Uttar Pradesh and Madhya
Pradesh

(D)  Rajasthan, Delhi and Gujarat

G

Question not attempted

P.T.O.



111.

112.

113.

114.

115.

% 2,50,000 UX 15 HEMT BT 12% qMHH ST F gl | 111
TS AT B, ST TS AT G & T2
(A)  T39,327
(B) ¥ 38,400
(C) 39,300
(D) 46,802
(B)  3raRd e
AAFHTA AR IHF a8 F 9T H, To= H, [112.
freferfaa & 9 Sret-wrSt ot e g ot ?
(A) =T
(B)  STRTTES
(C) TR mEr
(D) Rramer
(B) IaRa ued
TS AT &R % FHA (FIATE) & N 1 6 H 7 113,
HLAl &, TP aAled | 39 1% ST AT & | Tt ey
FY NI 7 km/h &, T T STt & AT B IO ke /h &
FTE?
(A) 35
(B) 21
(@) 281

2
(D) 24
(B) IaRa ueA
TSR & [T IR B, ‘T BT &1 A’ Far | 114.
STATE ?
(A)  TrHEEd
(B) TSI HEA
(©) g AEA
(D) TaR#Ed
(B)  3raRd e
frfaRad # § TR O &, TSI HT HAR’ Far| 115.
ST ?
(A) TIgEATA
(B) a=TWITd
(© e
(D)  S|ATIST
(B)  3raRd e
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Find the compound interest on ¥ 2,50,000 for
15 months at 12% per annum compounded half
yearly.

(A) 39,327
(B) ¥ 38,400
(C) 39,300
(D) T 46,802

(E)

Which of the following was not a style of turban in
Rajasthan, during the medieval times and beyond ?

Question not attempted

(A) Pomcha

(B) Amarshahi

(C©)  Khanjar Shahi

(D)  Shivshahi

(E)  Question not attempted

A boat covers a certain distance downstream in
1
1 hour, while it comes back in 15 hours. If the

speed of the stream is 7 km/h, then what is the
speed of the boat in still water in km/h ?

(A) 35
(B 21
1
C 28—
© 28
(D) 24
(E)  Question not attempted

Which monument of Rajasthan is known as the
‘Hawa Mabhal of Jhunjhunu’ ?

(A) Rang Mahal

(B)  Khetri Mahal

(C) Lalgarh Palace

(D)  Chittar Palace

(E)  Question not attempted

Which one of the following saints, is known as the
‘Kabir of Rajasthan’ ?

(A) Dadu Dayal

(B) Dhanna Bhagat

(©) Laldas

(D)  Jasnathji

(E)  Question not attempted



116.  FIATHTET TSI THIAROT TCRATT & g
HATPg g ARYAE ?
(A)  THT IR
(B) waTwTE I Faciigie
(C)  HHETINTATNR
(D) 37T 3R HAUR
(B) 31 aRd e
117. HEI HI THT 5 ST IS fSaed ¥ FgA
% forT Fopet gre R feamgs &1 sumiv fparsiar g 2
(A) THTWE
(B) wAsmEH
O dARSTHFE
(D) WhT TS
(B)  Irqand wed
118. frfetiEd ® ¥ Hi-91, g&T afaai & fHue @t
e gufavor s fafiy ?
T ToT 7T foshedt # o qeW IUGF 3T BT AT
E¥
(A)  TREE BT ATeTat § W FeX P e
ThepAT
(B) S H AT
©) "EIE™ET
(D) StTET
(B)  3TaRd e
119. 128 T UII-334T, 80 F AR-UGd I =T ATt
B R ?
(A)  35%
(B)  20%
Q)  25%
(D)  30%
(B)  3aRd e
120. T 3T IEY FHAM T 680 3T T 820 H TS | 39
TECT T 5% B F T AR GAL a5 15% ATH F
T A9 3 AN oS § IHBT ATV 31T 21T
TTLTd T B | (SIAAT b 2 TATH TF &)
(A) =, 5.12%
(B) ¥, 10.25%
(© E™,5.93%
(D) @™, 5.86%
(B)  3raRd e
-00
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116.

117.

118.

119.

120.

0-

The Sitamata Wildlife Sanctuary is situated in
which of the following regions of Rajasthan ?

(A) Sikar and Jhunjhunu

(B) Pratapgarh and Chittorgarh
(C©) Bikaner and Nagaur

(D)  Alwar and Bharatpur

(E)  Question not attempted

Which hardware device is used for connecting a
computer to audio output devices like speakers ?

(A) SsD

(B) NIC

(C) Sound Card

(D)  Graphics Card

(E)  Question not attempted

Among the following, the most eco-friendly
method for disposal of dry leaves is :

Choose the most appropriate answer from the
options provided below :

(A) Stuffing into plastic bags and throwing in
the garbage bin

(B) Dumping in river

(C©) Composting

(D) Burning

(E)  Question not attempted

By what percent is five-eighth of 128, is more than

four-fifth of 80 ?

(A) 35%

(B) 20%

(C) 25%

(D) 30%

(E)  Question not attempted

Saurav bought two items for ¥ 680 and ¥ 820
respectively. He sold the first item with 5% loss
and the second item with 15% profit. Find his
profit or loss percentage in the whole transaction.
(correct to 2 decimal places)

(A) loss, 5.12%

(B)  profit, 10.25%

(C)  profit, 5.93%

(D)  profit, 5.86%

(E)  Question not attempted

P.T.O.
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